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1. (One) of the sleeping problems can keep you awake even when (you want to sleep).

2. (Artificial intelligence) is not good at coming up with new ideas like humans (are).

3. (Let me talk about the confusion) with regard to job-hoppers going from one company to another.
4. Having different perspectives allows us to be able to (make new products).

5. In order for you to obtain a better understanding of our (training, we have summarized the

outline).
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humans have launched crafts that have orbited the moon
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1. Almost every president since Nixon have proposed a return to the moon.

“Congress decided we couldn’t have guns and the moon at the same time.” The U.S. government
was always spending money on wars or some kind of emergency, so that money was not available
for another trip to the moon.

2. In the 1960s the U.S.A. was in a space race with the Soviet Union; it was the time of the Cold War.

American goals were political and the U.S.A. accomplished the goal of getting to the moon before



the Russians. Now technology has tremendously advanced and we have both scientific and business
objectives. There are various possibilities that the moon offers us such as the following:

becoming a way station for launching rockets and satellites into the solar system

lunar construction projects, including a tele-robotics lab

the possibility of mining water and precious materials

space tourism — though scientists are skeptical
3. The space race with the Soviet Union in the Cold War, specifically, the fact that the Soviet Union

was winning the space race with the first satellite and the first astronaut in space.
The American Congress was spending money on other things such as defense, and America had

accomplished its goal of winning the space race against the Russians by putting men on the moon.
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in the way we see things
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